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Mini-Lab: How was the Hubble constant derived?
Hubble's constant - (cosmology) the ratio of the speed of recession of a galaxy (due to the expansion of the universe) to its distance from the observer; the Hubble constant is not actually a constant, but is regarded as measuring the expansion rate today.
Objective: Plotting the speeds and distances for a number of galaxies created the expansion constant for Hubble’s Law.

1 Megaparsec (Mpc) = 3.26 million light years. 
Analysis

1. Use the data to construct a graph. Plot the distance on the x-axis and the speed on the y-axis.

2. Use a ruler to draw a straight line through the center of the band of points on the graph, so that approximately as many points lie above the line as lie below it. Make sure your line starts at the origin.

3. Measure the slope by choosing a point on the line and dividing the speed at that point by the distance. (This value is H or the Hubble Constant)
	Galaxy Data

	Distance (Mpc)
	Speed (km/s)
	Distance (Mpc)
	Speed (km/s)

	3.0
	210
	26.5
	2087

	8.3
	450
	33.7
	2813

	10.9
	972
	36.8
	2697

	16.2
	1383
	38.7
	3177

	17.0
	1202
	43.9
	3835

	20.4
	1685
	45.1
	3470

	21.9
	1594
	47.6
	3784
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Slope  (H) = 

(show your work) 
Think Critically:

4. State: What does the slope represent?
5. Gauge: How accurate do you think your value of H is? Explain.

6. Consider: How would an astronomer improve this measurement of H?
